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~SNAP-Time Sharing Calculator

SNAP is an algebraic programming language allowing a user to
solve a mathematical prcblem in ordinary mathematical notation.
It is a modified versicn of BASIC. In the execution phase of a
SNAP program, the commands are interpreted and executed under
control of the multiprcgramming operating system. The program
to be executed is written in a program file under control .of
the text EDITOR. A variatle file must also bte created to hold
all the variables needed in the program. Up to 26, 1 letter
varlables, consisting cf the letters of the alphabet can be
used 1n the program. The SNAP program is entered as follows:

PRZGRAM? SNAP, PRGFIL,VARFIL
SNAP -
in response to which the user can type:

C enter variables

return to executive

go execute program

reset variable file

print values of variables;

v oY Qo

The SNAP_command list consists of:

Y



516-L40 -2 -

SNAP Command-List

- A=B+C addition
‘ . A=B-C subtraction
. A=B*C multiplication
A=B/C division
A=SRB square root of B ,
BP16A branch to line number 16 on positive A
—~ BZ16A branch to line number 16 on zero A '
' BM16A branch to line number 16 on negative A
. BS18 branch to subroutine at line number 18
BRSUN set up DF Loop on N -
BR16N branch to line numter 16 N times
RETN return from subroutine
. ST@P stop execution of program
TYPEA type out value of A
TYPE! type CR LF combination '
TYPE"TEXT" type out text between quotation marks.
Note that all transfers are to line numbers as no statement labels
are allowed.
A program to solve for the roots of a quadratic equation would
look 1like:
FEOCEA4? ¥
TENT ETITOP
N1
. =R001TS
™ - BP1s 13 .
,k,) 001 IYEERECUSOLUF FOF FOUTS OF AV&x2+TV4(=("
(‘ oNg F=owa
- T 0N3 Esbk — -
00L S=0%4 '
005 5=5%C
nNeE F=E=§
0N7 +=S5T P
-~ POR 1=0-1
o 009 X=j-
(if“ 010 Y=T+K
Oll X=x/1
ni2 y=Y/T

013 LYPETPOOTS Sk isTY XO=0Y
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A typical executlon of the program might occur as follows:

FEOCRAN? SNA&F, FUdTS, Fl01S51

SNpE - &
SRS

GOLUVE POE ROOTS OF AN &x24ENAC=(0

p=1
R=iN2 ‘ T
C=2n0 , '
#20J1S Ak Xl=- 100 ¥ O=- 2
KNeE - F
L= -1
ti= 102
r= onn '
1= o
R= Ax
S= K00
1=~ 102
Cx=- 100
y=- 2

SN'AF - k

An example of another program which exercises most of the
possible commands follows: .
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FEOGEANT? SNAF, BNML, RNULI

SNAE
SNAF
N=7

SNAF

) SV
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COFrriICI

sNaF - F
N= K000
iz ‘_\(“.1.'(‘.
(= 1.
I= 1
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